| Laser amplitude 2011_03 04
2 3 4 5 6 I ]

1000

Laser amplitude [adc count

900
800
700

6005

200
400
joo
200
100

"b‘_IIII ITTT IIII|IIII|IIII|I

J_.I_ IBIuIa |a*r Iaﬂlp“iuda I T T T I I T T T I | T T T I I T T T I I T T T I | T T T I I T T T T
—— Red laser amplitude/2 5 5 : : i :

&
=
-
dn
A

timé from fow [hf

,.
(1)
0
o
o
)
=
v

Laser amplitude RMS [%]

N W B O N @ © O

==

'-'=||||||||| T

1 2 3 4 5 6 7 8

P T v L I
+Redl:_aserRllS : 5 ;

-a -7 '5 '5 Bl tlme fI'OIT'I I'IOW [hf

Mow is Fri Mar 4 08:50:34 2011

Now is Fri Mar 4 08:50:34 2011



2011_03_04
7 .

4 5 &

T} 1“—'.—'Blhelasérjitle'r' ST B B R B L

—a— Red laser jitter |......... .................................. .................................. ............ o ]

Laser jitter [ns

9
8
7
&
5
4
3
2

| Laser FWHM |
3

E ?u _b_' Blula |aslar #WHH T T T T I T T T T I T T T T I T T T T I T T T T
E 65| —8— Red laser FWHM |-t .................................. .................................. ...................................
£ 60

& 55

|

50
45

.......................................................................................................................................................................................

40

35 E_.. .......... .- .......... .... .......... .. .......... .. ....... .- .......... .. .......... .. .....
DO .............................. .............................. U ST

- - L NS SN I S

. PR [ T H T E T R
20g 5 4 3 2 £ 0

tfima fram nnaw Ml

2011

Now is Fri Mar 4 08:51:57

4 08:51:57 2011

MNow is Fri Mar



| Laser timing | 2011_03_04
3 7 8

1560

c
=540
c

L
=
L]
]
o

1520
1500

fé:;g.-- ---r-_r-..---r-.r- _____ - "'--3
14.,[.;ﬁﬁfﬁﬁﬁfﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁfﬁﬁfﬁﬁﬁﬁﬁﬁﬁﬁfﬁﬁfﬁﬁﬁﬁﬁfﬁﬁﬁfﬁ;ﬁﬁﬁﬁﬁﬁﬁﬁﬁfﬁfﬁﬁlfﬁﬁﬁﬁfﬁﬁéﬁlfﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁfﬁlfﬁﬁﬁﬁ:ﬁﬁﬁﬁfﬁﬁﬁﬁﬁﬁfﬁﬁfﬁfﬁﬁﬁﬁﬁﬁﬁfﬁﬁlﬁfﬁﬁﬁﬁﬁﬁﬁﬁfﬁﬁfﬁﬁﬁﬁﬁfﬁfﬁ
e

4
& Blle Iaser timing [
—&— Red laser timing

| Pre-pulse search |
3

5 6 7 ]

% + pmﬂulse ampllde T T T | T T T T : I T T T T | T T T T I T T T 4§—
=] —&— pre-pulse width ]
e = _
= .pn#!yb 4&-‘& .nﬂ.‘ma.- ............
£ N I E
T i ‘= .
» 10 —=
3 -
Q 7
2 1 =
o 3

107 =

102_

— —
=

—

Now is Fri Mar 4 08:51:57 2011

Q
dth [ns]

NN is Friiar 4 tﬁrﬁéﬁiafgg wi

-



